

Variance goes down as one adds data

Mewke
Jan 2, 2007

$$\underline{G} \underline{m} = \underline{d} \quad \text{cov } \underline{d} = \underline{C} = \begin{bmatrix} \sigma_1^2 & & \\ & \sigma_2^2 & \\ & & \dots \end{bmatrix}$$

$$\text{min } \underline{z} = \underline{e}^T \underline{C}^{-1} \underline{e} = (\underline{d} - \underline{G} \underline{m})^T \underline{C}^{-1} (\underline{d} - \underline{G} \underline{m})$$

$$\text{leads to ls solu } \underline{m} = (\underline{G}^T \underline{C}^{-1} \underline{G})^{-1} \underline{G}^T \underline{C}^{-1} \underline{d}$$

$$\text{suppose } \underline{G} = \begin{bmatrix} 1 \\ \vdots \end{bmatrix} \quad \text{then } \underline{G}^T \underline{C}^{-1} \underline{G} = \sum \sigma_i^{-2}$$

$$\text{and } \underline{G}^T \underline{C}^{-1} \underline{d} = \frac{\sum \sigma_i^{-2} d_i}{\sum \sigma_i^{-2}} = \frac{[1 \dots 1] \underline{C}^{-1} \underline{d}}{\sum \sigma_i^{-2}}$$

$$\text{now if } \underline{m} = \underline{G}^{-1} \underline{d} \quad \text{then } \text{cov } \underline{m} = \underline{G}^{-1} \text{cov } \underline{d} \underline{G}^{-1 T}$$

$$\text{so } \text{cov } \underline{m} = \frac{[1 \dots 1] \underline{C}^{-1} \underline{C}^{-1} \begin{bmatrix} 1 \\ \vdots \\ 1 \end{bmatrix}}{\sum \sigma_i^{-2}} = \frac{1}{\sum \sigma_i^{-2}}$$

$$= \frac{1}{\sum \sigma_i^{-2}} \sum \sigma_i^{-2} \frac{1}{\sum \sigma_i^{-2}} = \frac{1}{\sum \sigma_i^{-2}}$$

$$\text{cov } \underline{m} = \frac{1}{\sum \sigma_i^{-2}} = \frac{\sigma_1^2}{1 + \sum_{i=2} \left(\frac{\sigma_1^2}{\sigma_i^2} \right)}$$

but since $\sigma > 0$ adding data only
drives down cov \underline{m}